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Chuyển chế độ làm việc với số phức 
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Fx570MS 

 

Chuyển chế độ làm việc số phức 

 

 

 

 

 

 

Fx570ES 

(PLUS) 

Chuyển chế độ làm việc số phức 

  

shift Abs 4 ( + 3 i 

= ) → modul = 5 

→ góc = 36.870 

Dịch con trỏ vể vị trí Arg 

shift Arg 

shift ( - ) 5 

= → a = 4 

→ b = 3 

shift Re - Im 

36.87 

Pol ( 

tan 

4 , = 3 

→ modul = 5 

→ góc = 36.870 

RCL = 

Pol ( 5 , 

= 

shift 36.87 

→ a = 4 

→ b = 3 tan RCL = 

shift 4 + 3 i 

shift + = → modul = 5 

→ góc = 36.870 shift = 

shift 5 

= 

∟ 36.87 

→ a = 4 

→ b = 3 shift = 

4 + 

shift 2 3 →  

36.87 3 ENG 

� � 

shift 5 ( - ) 

= →  a + j.b 


